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QUESTION 1

A customer is replicating data between sites using TrueCopy. The TrueCopy Command Control Interface 

(CCI)

 device group name is TC_db01. During a production downtime period, the customer suspended the TrueCopy pairs
and modified the contents of the secondary volumes. The customer now wants to replicate the changed data back to the
production array. Which command should be issued from the recovery CCI server to replicate just the changes from the
TrueCopy secondary volumes back to the original primary volumes? 

A. 

horctakeover -g TC_db01 -S 

B. 

pairresync -g TC_db01 -swapp 

C. 

pairresync -g TC_db01 -swaps 

D. 

horctakeover -g TC_db01 -swapp 

Correct Answer: C 

 

QUESTION 2

A customer uses Universal Replicator for Disaster Recovery for several mission critical applications. A disaster occurs
at the production site and network communication is lost between the sites. Which two actions should be used to split
the Universal Replicator pairs from the recovery site so the secondary volumes can be used for application recovery?
(Choose two.) 

A. Issue a horctakeover -S command from the recovery site CCI server. 

B. Issue a horctakeover -S command from the recovery site Storage Navigator. 

C. Suspend the Universal Replicator pairs with S-VOL write enabled from the recovery site CCI Server. 

D. Delete the Universal Replicator pairs from the secondary site using the recovery site Storage Navigator. 

Correct Answer: AD 

 

QUESTION 3

A customer is using Universal Replicator to replicate an application\\'s database. The customer wants to perform a
Disaster Recovery test. The Universal Replicator pairs are suspended and the database and application are
successfully started on the recovery server. The end-users at the production site are not able to access the application
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at the recovery site. However, they can ping the recovery server. What are two reasons for the issue described?
(Choose two.) 

A. The correct users have not been created on the recovery server. 

B. The correct SAN zoning has not been configured at the recovery site. 

C. The needed network ports have not been opened to the recovery site. 

D. The recovery server IP address does not match the IP address of the production server. 

Correct Answer: AC 

 

QUESTION 4

A customer would like to automate the mounting of suspended ShadowImage secondary volumes in a Windows CCI
script. Which CCI command would be used to assign a volume to a Windows drive letter? 

A. raidscan -x mount  

B. raidscan -m mount  

C. raidmount -x mount  

D. raidmount -m mount  

Correct Answer: A 

 

QUESTION 5

Which statement is true about HiCommand Tiered Storage Manager? 

A. It works as a migration controller. 

B. It moves the LDEV number before copying data; 

C. Migration using Tiered Storage Manager is disruptive to the continuance of a business. 

D. Tiered Storage Manager focuses on short term improvements of a storage system\\'s performance. 

Correct Answer: A 
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